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Bell Ringer

Wednesday 10/2

On your graphing calculator, create a scatter plot of the data in the table.
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=-3x+2a good fit for the data? Hint: Graph the line with the scatter plot and check your
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Is the line y = -0.5x + 1 a good fit for the data? Hint: Graph the line with the scatter plot and check your d
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correct Lines of Best fit ws

Name D}JJ Hour 4.4 Day 2 Lines of Best Fit
1. Explain the difference between a trend line and a line of best fit. Ly of @it

L o Bt £\ W ost dauurate trgadivie . Ca\aulated .

dling . eYye-Yo\led
2. Th:a\}'égig shows numbef of ou\rjs spent studying for a science test and final test score.

Study Hours | 3 2 5 1 0 4 3
Grade 84 | 77 | 92 | 70 | 60 | 90 | 75

a. Draw a scatter plot of the data and a line of fit (frend line).

@ b. Write alinear function for the line of BEST fit and interpret (og”
The correlation coefficient. Is the line a good fit? Explain. N ——
Y= b 2% 102 Nos, ¥=.9sb P
wWith \¢ A4 SMNgY Tgy

c. Predict the grade of a student who studied 6 hours. ~5:11§ e
Y=b3(L)+ ¢ 97.% ;-

d. Is this interpolation or extrapolation? b oA

Bxtvapolation- outsice guien data values 0

3. The table shows the average and maximum lengevity of various animals in captivity.

Longevity (years)

Avg.| 12|25 |15| 8 | 35|40 41}20
Max. | 47 | 50 [ 40| 20 | 70 | 77 61J54

a. Draw a scatter plot and determine what relationship, if any, exists in the data.
Animal Longevity (Years)

gl
?osr'{\\ﬁe cofre L afn . ! s
b. Draw a line of fit (trend line) for the scatterplot, ralt. : :r : /./
then use your calculator to write the linear function 60 1 .
of the line of BEST fit and interpret the correlation  E 50 ——1 /
coefficient. £ ool | R R
20 _/{ ______ ST A, A ) P
c. Is the line a good fit? Explain. 19 | l
- . 1 i |
- v o5 25 35 40 45
®\(€‘>, V=, [.?)46\ \uu\{“(}f\ \G 'ﬁ'._'rhj Cﬂ«pﬂﬂ 1015 A;Uer;ge W 35 40 a8

d. Predict the maximum longevity for an animal with an aver}"age longevity of 33 years.

Y =122( 2% Yy = (2.bk
e. Is this interpolation or extrapolation?

© 1 pierpdation — witkin Ynown data valles
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4. A herd of caribou moved to a small remote island where they had no predators. Data on the
population of the herd was collected for 6 years.

T EIRCISEIRY

| S
| Time (years) 0| 1 |
51, 74| 104 ’ 151 | 225

' Population 24| 35 |

@a. Write the equation for the line of best fit.

b. Identify and interpret the correlation coefficient, r.
r=0495

c. Is the line a good fit for the data? Explain R
Y& high corvélanon Ceiuent (¢ frung  post Wé)
@d. Using the equation that best fits the data, predict hou_.' many caribou .'rhelr'e will be in 9 years.
y=32\.7(N-029 5 205 @nbd
e. Is this interpolation or extrapolation? . ,
Eeha Ec. dhon Coutads agpwn dota valngs)

5. Use the data in the table to answer the questions.

x 1 1 2 5 | 4 4 3 6
y 9 3 8 4 3 2 6 8

a. Write the equation for the line of best fit.
Y= -0 2tx+0.?
@ b. Identify and interpret the correlation coefficient, r. 1
(= <0105, NOFGhng—Guper WK .
c. Is the line a good fit for the data? Explain 1 < ad s '
© No, weak negahive cnedation —dlmest 19 Carearen
d. Using the equation that best fits the data, predict y when x is 3.
Y=-0.242)%06\1= & 45
e. Is this interpolation or extrapolation?

T torpotd fLon Cwithn o ddidd VL ues)
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Essential Question

How can you use an arithmetic sequence to describe a pattern?
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Use the figures to complete the table. Plot the points given by
your completed table. Describe the pattern of the y-values.

= = =3 =5
" o L
© ; f
4 4
3 ¢
n I 23| 4|5 *1’-—'
Number of circles, y Z 3 u 5 b s
n
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Use the figures to complete the table. Plot the points given by
your completed table. Describe the pattern of the y-values.

c. n=1 n=2 n=3 n=4 n=>5 Yk
o0 o0 o0 e oo ?
o0 o0 PP oo © .
P P oo °© ‘
®oe0 o0 6
P 4
2
Number of rows, n | 2 3 4 5 00 1 2 3 4 5°n

Number of dots, y | "2 \1 % 1 \0
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G Core Concept

Arithmetic Sequence

In an arithmetic sequence, the differenggbetween each pair of consecutive terms
is the same. This difference is called thejcommon differencef Each term is found
by adding the common difference to the previousternr. _

—=2 5, 10, 15 20, / 26/ -;Qelms E¥ ain arithmetic sequence
NS NN

A
45 45 45 <—[common diﬁerencej
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Write the next three terms of the arithmetic sequence.

" _wjj'& ) ‘39/—\12"“‘6{/--- d=-7
-7 -7 =77

2. -12,0,12,24, 34,4%, 60 A= (2

3.02,061,14,1.€ 2.2, 2.6 d= \
wasislyl 2 2% 24 d=-%
4727%
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Graph each arithmetic sequence. What do you notice?

3,6,9, 12, ... 4,2.0,-2,... 1,0.8,0.6,04, ...
® "0
O‘ '
’.2 @
] |
® o
3 ' ¥
- A
' o

term ==
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Do the graphs shown represent arithmetic sequences? Explain.

anh
16
14
12
10 (4 11)
2 LEL
[
4 (2, gt T
2| ta, A

\©

012 3 456 7n

anA

16 /'é

1 *(1;15)’?
|

12 1(2,12) L 1id
L

10 +(3. 9) 3

8 |

6 1(4 6)

4

2

00 1 2 3 4 5 6 }'::n

\)&7

4=

10
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&) Core Concept

Equation for an Arithmetic Sequence

Let a, be the nth term of an arithmetic sequence with first term @, and common
difference d. The nth term 1s given by
— -

a,=a,+ (n— 1yd.
\—7

Explicit Formuld (Eq0)
an: a\ +(n —'>d
A.= a +an-1

e
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|$!-t¢rm "¢ (000"
) L OPO

a, = a, +
nYYrit_ez ?na‘eg"uaﬁ;rﬁor the nth term of the arithmetic,;sque e
914,11.8.5,....  Then find ay, &N
NG a,= 4 BT
Qa= (4 +(N-DE) g =1l 2 “b,
d, =3 2 |E
Oy~ Z " }
50

12
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. a,=a, +(n_lyd.
Write an equgtlon for the nth term of the arithmetic sequence.
Then find a A sub |
4 .6 2 7 Oa h a »
9, C. q :& 2

hid
2
Qla =M+ (n=1(0) 2,

' o
’\OG"'L"-[(“ 0\ 29 ‘5"4_‘(2“)
s>+ | (20-))
1+ \()
=2

13
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a,=a, +(n— | )d.

Write an equation for the nth term of the arithmetic sequence.

Then find a
18 - n_l
8,16, 24, 32, On ‘Cé +(ZXn-0

\.)'J_J"

An= + (V\"’OQ)
au: % \- (\‘2/\3(8)

= 3+ (\1)(®)

=%+130
A = 14Y

14
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a,=a, +(n— lyd.

n

Write an equation Tor the nth term of the arithmetic sequence.

Then find a;,

10 -1 -2 CGAn= | (=N

AT, = L (3FDED
0{‘-'-"\ - l ‘_C,%O)
- -1

15
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Online bidding for a purse o :
increases by $5 for each bid B!d Number |1 2 3 4
after the $60 initial bid. Bid Amount |$60 $65 |$70|$75

a. Write a function that represents the arithmetic sequence.

b. Graph the function.

c. The winning bid is $105. How many bids were there?

16
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A carnival charges $2 for each game after you pay a $5 entry fee.

Games

1

2

3

4

Total Cost

$7

$9

$11

$13

a. Write a function that represents the arithmetic sequence.

b. Graph the function.

c. How many games can you play when you take $29 to the carnival?

17
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4.6 hw pg 204-206 #s 1, 2, 3-25 odd, skip #21,
33-39 odd, 45

18
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